Day 1-4 days Number System

(a) 4
(b) 5
()1
(d)6

Q7. If the 11-digit number
5678x43267y is divisible by 72,
then the value of \/SxTSy is:

gfg  11-8fkl B "
5678x43267y , 72 ¥ fauifora §,

I f5x + 8y T HH FITGRT 2
SSC CGL Tier II- 12
September 2019

(a) 6

(b) 4

()7

(d)8

Q8. The number of factors of
3600 is : / 3600 & IO I
WT%

SSC CGL Tier II- 12
September 2019

(a) 45

(b) 44

(c)43

(d) 42

Q9. If x = (164)'%+(333)*7-
(727)726,then what is the unit
digit of x ?

afd x = (164)'% +(333) -
(727)%° ®, A x BT 3PI8 3P
TG 2

SSC CGL Tier II- 12
September 2019

(@5

(b)7

()8

(d)9

Q 10. Let x be the least number
which when divided by 15,18,20
and 27, the remainder in each
case is 10 and x is a multiple of
31. What least number should be
added to x to make it a perfect
square ?

A ol f6 x a8 989 BT
T 8 o 15, 18, 20 3R 279

fauIiorg &1 R v Rufd 4
AYHS 10 3T § 3R x, 31 B
TP 70N § | x § g9 B o
IRAT STe! S A1y dlieb I8
qul ot & SITY 2

SSC CGL Tier 1II- 12
September 2019

(a) 39

(b) 37

(c) 43

(d) 36

QI11. When a two-digit number is
multiplied by the sum of its
digits, the product is 424. When
the  number  obtained by
interchanging  its  digits s
multiplied by the sum of the
digits, the result is 280. The sum

of the digits of the given number

3 Pl B UH T DI o
gD bl &b AT [ AT fban
ST B, Y TUM%E 424 3T § |
Oq &3B! DI Uded § &
&A1 P 3l & e I Al
frar S B, @ oM 280
3T 8 | < TRt =T P 3l B
TR -

SSC CGL Tier 1II- 12
September 2019

(a) 6

(b)9

()8

(d)7

QI12. If x is the remainder when
361284 is divided by 5 and y is the
remainder when 4°¢ is divided by

6, then what is the value of (2x-y)
9

AR x, 39 B 5§ Rl
A TR ST ITel VB § qUT
y, 4% @I 6 9 fauTiord &1 )
3 T AYBE 8, Al (2x-y) BT
AF R ?

SSC CGL Tier 1II- 13
September 2019

(a) -4

(b)4

(c)-2
(d)2

QI13. In finding the HCF of two
numbers by division method, the
last divisor is 17 and the quotients
are 1, 11 and 2, respectively.
What is the sum of the two
numbers ?

faureq fofd ¥ <1 S=stt &1
HCF fAeem & drRM oifaw
HISI 17 § IUT AV HH: 1,
11 4T 2 § | Q1 e T I
g2

SSC CGL Tier II- 13
September 2019

(a) 833

(b) 867

(c) 816

(d) 901

Ql14. If a 10-digit number
5432y1749x is divisible by 72,

then what is the value of (5x-4y)
0

gfe 10 Sf@l @ TS TE
5432y1749x, 72 9 fauifora g, at
(5x-4y) BTAF TG ?

SSC CGL Tier II- 13
September 2019

(a) 14

(b) 15

(c) 10

(d)9

Q15. What is the remainder when
(127°7 +97°7) is divided by 32 ?

TS (12777 +97°7) B 32 F UAT
fear Srar 8, @ Awma F@wm
ST ?

SSC CGL Tier 1II- 13
September 2019

(a)4

(b)2

()7

(d)0

Q16. Two positive numbers differ
by 2001. When the larger number
is divided by the smaller number,
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Day 1-4 days Number System

the quotient is 9 and the
remainder is 41. The sum of the
digits of the larger number is :

& TS Twmett § 2001 @1
3R B | OF ISI T Bl B
er § Wi fear srar ®, o
YT 9 31T § 7T AT 41
3ATAT B | St WA & 3fh] BT
IR g -

SSC CGL Tier 1II- 13
September 2019

(a) 15

(b) 11

(c) 10

(d) 14

SSC CGL TIER 1

Q1. If the number 1005x4 is
completely divisible by 8, then
the smallest integer in place of x
will be:

gfe =T 1005x4 , 8 T Yol
fauTford &, dl x & RIM W gad
BIeT Yuifes T ST 2

SSC CGL 3 March 2020
(Morning)

(a)2

(b) 4

()1

(d)o

Q2. When 200 is divided by a
positive integer x, the remainder
is 8. How many values of x are
there?

S 200 BT BT SHTES quUIih
x & I fea oITer g, o [wha 8
AATE | x P BT AT 2

SSC CGL 3 March 2020
(Afternoon)

(a)7

(b) 5

(c) 8

(d)6

Q3. What should replace * in the
number 94%*2357, so that the
number is divisible by 11?

G- 94%2357 H * & VM W
HH A g S I daife
Ig T 1 § fyufsa g o |

SSC CGL 3 March 2020
(Evening)

()3
(b)7
(©1
(d)8

Q4. When 732 is divided by a
positive integer x, the remainder
is 12. How many values of x are
there? /

S 732 B U YITHS QU x
T YT e e g, d A9 12
AETE | x P P aFE 2

SSC CGL 4 March 2020
(Morning)

(a) 19

(b) 20

(c) 18

(d) 16

Q5. If the 6-digit numbers

x35624 and 1257y4 are divisible

by 11 and 72, respectively, then

what is the value of (5x-2y)?

gfe 6 3T BT VAT x35624 AUT

1257y4 U 11 3R 72 ¥

gﬁm ®, I (5x-2y) &1 HH &
9

SSC CGL 4 March 2020

(Afternoon)

(a) 14

(b) 12

(c) 10

(d) 13

Q6. How many numbers are there

from 200 to 800 which are neither

divisible by 5 nor by 7?

200 ¥ 800 T U fovait Ty

gx—:ﬁma‘rsﬁmé’rﬁrﬁm
9

SSC CGL 4 March 2020

(Evening)

(a) 407

(b)410

(c)413

(d) 411

Q7. If the nine-digit number
708x6y8z9 is divisible by 99,
then what is the value of x+y+z?
gfe =Y 3iehl BT TWAT 708x6y829
, 99 T faursy %‘ ar xt+y+z Pl
A TG 2

SSC CGL 5 March 2020
(Morning)

(a)9

(b) 16

(©)5

(d) 27

Q8. When a positive integer is
divided by d, the remainder is 15.
When ten times of the same
number is divided by d, the
remainder is 6. The least possible
value of d is:

99 U YIS QUID Bl d
T T Srar g, @ I9wd 15
311§ | ST 30 .1 & 10 T
& d I YrT e o g,
VB 6 3T § | d BT FAaH
THI T Bl T § -

SSC CGL 5 March 2020
(Afternoon)

(a) 9

(b) 12

() 16

(d) 18

Q9. The greatest number which
should be replace “*’ in the

number 146*48 to make it
divisible by 8 is:

146*48 &1 8 ¥ faUg §9H &
U+ & F R 99y T oy
AT D1 T ST MY 2

SSC CGL 5 March 2020
(Evening)

(@9

(b) 2

(c)8

(Do

Q10. If the number 687x29 is
divisible by 9, then the value of
2x 1s:

e T-AT 687x29 , 9 F faUTH
&, Al 2x BT | T I 2

www.ssccglpinnacle.com support@ssccglpinnacle.com

Ph. 09729327755, 09817390373

12



Day 1-4 days Number System

SSC CGL 6 March 2020
(Morning)

(a) 8

(b)3

(c)2

(d)4

Ql11. The largest number which
could replace * in the 2365*4 to
make the number divisible by 4 is

2365*4 B 4 ¥ [AUTST 91 &
fore * & WM W 998 981 B
It T 3 gH B 2
SSC CGL 6 March 2020
(Afternoon)

Q14. What is the remainder when

we divide 57°+7" by 74?

SIS §H 57+7° B 74 W U ¢4
oY RIVTheT T SHTTT 2

SSC CGL 7 March 2020
(Evening)

(a)7

(b) 1

(©0

)5

Q15. If 5 divided the integer n,
the remainder is 2. What will be
the remainder if 7n is divided by

59
gfe 5 J quifes n & AT foaT oI,
dl AYBA 2 TR (AT T H 5

(c) 963391
(d) 107611

Q2. When (777 +77) is divided
by 78, the remainder is:

9 (7777 +77) B 78 T fauriora
forar ST g, O RAWma b
SHTUIT?

CHSL 2019
(Afternoon shift)
(a) 75

(b) 77

(c) 76

(d) 74

12-10-2020

Q3. When an integer n is divided
by 5, the remainder is 3. What is

(a) 8 q um fea uITg, dl Iued the remainder if 8n is divided by
(b) 9 fobaT ST 2 59
(c)2 SSC CGL 9 March 2020 o9 fed) uﬁ‘uﬁ n Pl 5 I YN
()0 (Afternoon) fear e %, 3 AV 3 AT R
Sd 8n DI 5 I UIT far Sa, at

QI12. If the given number 925x85 (a1 AYBA fhdT Tam?
is divisible by 11, then the (b)4 CHSL 2019 12-10-2020
smallest value of x is: (©3 (Evening shift)
gfe < Tt T 925x85 , 11 9 () 2 (@)1
fAHTST &, o x BT a4 BleT AF (b) 4
famT g 2 Q16. The greatest number which ()2
SSC CGL 7 March 2020 may replace * in the number 3
(Morning) 1190*6 to make the number
(a)4 d.ivisible by 9 is: ) Q4. Which of the following
(b)2 B 1190%6 § * & ®|H W numbers is divisible by 6?
(©) 1 T TS DI T TeAT 311 Tt g § 9 P O 981 6 9
d)3 g, o @8 9 @ favursw & fyTorg &

STt 2 CHSL 2019 13-10-2020
QI13. If 7 divided a positive SSC CGL 9 March 2020 (Morning Shift)
integer n, the remainder is 2. (Evening) (2)23,408
Which of the following numbers (a)l (b)43,923
gives a remainder of 0 when ®9 (¢)1,00,246
divided by 7? (©3 (d)3,49,722
g fordlt eFTA® quifes n & 7 (d) 0
kil Waﬁmw 2 3'“?”%, Q5. The value of(a’+ 2a*+ 3a*+
a1 Faferfad 7 ¥ fog Ser &1 Q1. Which of the following 2at+1)at-2at + 1) - a*(at-2),
7" HITT ¢4 IR YYHA 0 ST 2 options is completely divisible by when a =7, is:
SSC CGL 7 March 2020 11 (a’+ 2at+3al+2at+1)(at-2ab +
(Afternoon) ﬁgﬁr@aﬁ@rﬁ?wﬁwu 1) - a%(a%_z)mqﬁamaﬂﬁ'q,
(a) n-5 ﬁ@hﬁ’-‘-ﬂﬁlﬁ%? Sda=77¢:
(b) nt+5 CHSL 2019 12-10-2020 CHSL 2019 13-10-2020
(c) nt2 (Morning Shift) (Morning Shift)
(d) nt1 (a) 809781 (a)7

(b) 116571

www.ssccglpinnacle.com support@ssccglpinnacle.com Ph. 09729327755, 09817390373
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Day 1-4 days Number System

(b)0
(o)1

(D7

Q6. If the number 59a44b is
divisible by 36, then the
maximum value of a + b is:

gfg WA 59a44b, 36 T fqUT
g, d atb B AYbdH AN
faT g 2
CHSL 2019
(Afternoon shift)
(a) 16

(b) 12

(c) 14

(d) 10

13-10-2020

Q7. Find the factors of the
expression 3x°- 5x - 8.

TSP 3x%- 5x - 8 b UFEIS
1 Ul Y

CHSL 2019
(Evening shift)

(a) (x-1)and (3x - 8)
(b) (x+ 1) and (3x - 8)
(¢) (x+ 1) and (3x + 8)
(d) (x-1)and (3x + 8)

13-10-2020

Q8. Which are the two nearest
numbers to 19,596, divisible by
9?

19,596 ¥ B I a1 Fdeay
T= &, S 9 I faursae

CHSL 2019 14-10-2020
(Morning Shift)

(a) 19,564, 19,620

(b) 19,611; 19,575

() 19,509; 19,611

(d) 19,593; 19,602

Q9. If the 8-digit number
1a765b12 is to be divisible by 72,
the least value of (2a + 3b) is:
I 8-SBT BT 1a765b12 B
72 ¥ Aursg &A1 8, @ (2a +
3b) BT HH J Y A 1 8 J1d
DX

CHSL 2019
(Afternoon shift)
(a) 10

(b) 9

14-10-2020

(c) 12
(d) 11

Q10. The Ilargest five-digit
number that is exactly divisible
by 81 is:

Ui il B! g St e, St
81 9 guia: fquifora g:

CHSL 2019 14-10-2020
(Evening shift)

(a) 99989

(b) 99991

() 99954

(d) 99876

Q11.The factors of the expression
2x? - 5x - 12 are:

ASH 2%~ Sx -
UFREUS &7 § T X
CHSL 2019 15-10-2020
(Morning Shift)

(a)(x -4)and 2x - 3)

(b)(x +4) and (2x + 3)
(c)(x-4)and (2x + 3)
(d)(x+4)and (2x - 3)

2 &

QI12.If 7129p465 is divisible by
9, then the value of p is:

gfe 7129p465 , 9 A faursa g,
p PTHIA %z
CHSL 2019
(Morning Shift)
(a)3

(b)o

(c)4

(d)2

15-10-2020

Q13. What is the least 5-digit
number that is divisible 917

HY ¥ B 5-3fH1 IS 1§
S 91 9 faursT §2
CHSL 2019
(Afternoon shift)
(a) 10283

(b) 10101

(c) 10010

(d) 10192

15-10-2020

Q14. Which of the following
numbers is divided by 3?

fofifed & 4 oH O S 3 @
farafor 82

CHSL 2019 15-10-2020
(Evening shift)

(a) 8703572
(b) 8703541
(c) 8703593
(d) 8765001

Q15. If ‘a’ is a natural number,
then (7a’ + 7a) is always divisible
by:

3R ‘a2’ U Widpiad T g ,al
(7a*+ 7a) gAY fauTiora gt
CHSL 2019 16-10-2020
(Morning Shift)

(a) 7 and 14 both

(b) 7 only

(c) 14 only

(d) 21 only

Q16. (ax + by) is a factor of:
(ax + by) [HIDT T UFRIUS

CHSL 2019
(Afternoon shift)
(a) a’x* + 2ab - by’
(b) a’x* + 2abxy + b’y*
(c) a’x’ + 2abx + biy*x
(d) a’x* + 2ab + b’y?

16-10-2020

Q17. 2x-3y is a factor of:

2x-3y [T T UrETS §:
CHSL 2019 16-10-2020
(Afternoon shift)

(a) 4x*+ 2x - 3y + 9y*- 12xy

(b) 8x*+ 27y’

(c) 4x*+ 9y* + 12xy

(d) 4x* + 2x - 3y + 36y*+ 12xy

Q18. Given that 2¥*+1 s
completely divisible by a whole
number. Which of the following
is completely divisible by the
same number?

gg four mar §, 22+ e O
T § favrford g1 FRafefaa o

T D I T 9 [ e ¥
favreT 82
CHSL 2019 16-10-2020

(Afternoon shift)
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Day 1-4 days Number System

(a) 2P+1
(b) 5 x 2%
(c) 27+1
(d) 29+1

QI19. If a positive integer 'n' is
divisible by 3, 5, and 7, then what
is the next larger integer divisible
by all these numbers?

g U IHRIAD QOIS n’ 3,
5, 3R 7 ¥ faursy g, @ o
ol & gRI e B Al
ST quifes frHTea g 2

CHSL 2019 16-10-2020
(Evening shift)

(a)n+21

(b)n+35

(¢)n+ 105

(d)n+110

Q20. How many numbers
between 800 and 2000 are
divisible by 13?

800 3R 2000 % ot Pt fpa
T=Te 13 § faursa g2

CHSL 2019 19-10-2020
(Morning Shift)

(a) 90

(b) 92

(¢) 91

(d) 93

Q21. What should be the value of
N to make 396258N divisible by
8?

8 ¥ 396258N DI fqUTT §H &
fo1T N T O o1 g1 Afg
CHSL 2019 19-10-2020
(Evening shift)

(a)2

(b) 8

()4

(d) 6

Q22. If 4M37094267N is
divisible by both 8 and 11, where
M and N are single digit integers,
then the values of M and N are:

T 4M37094267N 8 3R 11 T
T fqursa 8, 98T M 3R N Tohd

%@W%?ﬁM RN & AH

CHSL 2019

(Morning Shift)
(a)M=5N=6
b)M=2,N=5
(c)M=5,N=2
(dM=5N=4

20-10-2020

Q.23. If the &-digit number
43A5325B is divisible by 8 and 9,
then the sum of A and B is equal
to:

g 8-3fDHTT TBAT 43A5325B, 8
3R 9 Y faursa g, dl A 3R B
CIRIURIGERY
CHSL 2019
(Afternoon shift)
(a) 12

(b) 18

(c) 14

(d) 15

20-10-2020

Q.24. 2% +2%0+2% ig divisible
by / fFad gRIfaursa 8

CHSL 2019 19-10-2020
(Evening shift)

(a) 6

(b) 7

(©5

(@9

Q.25. If 8- digit number
4432A43B is divisible by 9 and 5,
then the sum of A and B is equal
to:

gl 8- b T 4432A43B, 9
3R 5 A faursa @, dl A 3R B
DT ART J1d DY |
CHSL 2019
(Morning Shift)
(a) 12

(b) 5

(c)7

(d)8

21-10-2020

Q.26. When a number is divided
by 14, the remainder is 9. If the
square of the same number is

divided by 14, then the remainder
will be:

Od Uh G- B 14 H fauTierd
far Srar 3, @ /W 9 ST 3
gfg IH d=m &1 T 14 ¥
faurfsa v S g, @ 2w
g |

CHSL 2019
(Afternoon shift)
(a) 11

(b) 9

(c) 10

(d)8

21-10-2020

Q.27. 28 _ 1 is divisible by:

218 _ 1 frad grifavrsa §
CHSL 2019 21-10-2020
(Evening shift)

(a) 11

(b) 17

(c) 13

(d) 7

Q.28. If a number is divided by
899, the remainder is 63. If the
same number is divided by 29,
the remainder will be:

Tfe T =T Dl 899 I fauoa
a1 ST 8, O AW 63 TEAT B
gfe I T &Y 29 I fauford
fur Srar 8, O AW T=
CERI|

CHSL 2019
(Morning Shift)
(a) 10

(b) 2

(c)4

@S5

26-10-2020

Q.29. If the number 62783xy is
divisible by both 8 and 5, then the
smallest possible value of x and y

is:
g T 62783xy 8 3R 5 Gl
Y faursa 8, @ x 3R y &7 Jad
e Ui AF
CHSL 2019
(Afternoon shift)
(a)x=2,y=2
b)yx=6,y=0

21-10-2020
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Day 1-4 days Number System

(c)x=2,y=0
(d)x=2,y=5

Q30. If x3+2x>—ax—bis
exactly divisible by (x*> — 1), then
the values of a and b are:

afd B+22—ax—b ,(2- 1Y

Tquf fauTsa 8, Y a 3R b & A
BIGKCRY

CHSL 2019 21-10-2020
(Afternoon shift)

(a)a=-1,andb=2
(b)a=1landb=-2
(c)a=1landb=2
(d)a=2andb=2

Q.31. The divisor is 24 times the
quotient and 8 times the
remainder. If the quotient is 18,
then the dividend is:

IS HRTHA &1 24 AT SR
AY § T |1 Al TP 18 §,
GIGIEIR %z
CHSL 2019
(Evening Shift)
(a) 7830

(b) 7630

(c) 7840

(d) 7450

26-10-2020

Q.32. Which of the following
numbers will completely divide
781 4 782 | 783 9

frofafed § 3 @9 @ dem
781 4 782 4 783 Y CI;\P[ We I
fauTford it
CHSL 2019
(Morning Shift)
(a) 399

(b) 389

(c) 387

(d) 397

17-03-2020

Q.33. If a number is divided by 3,
the remainder will be 2. If the
number is added by 5 and then
divided by 3, then what will be
the remainder?

e T = P 3 9§ fauiioa
fopar Sirar ©, @ QA9 2 g afe

AT Dl 5 F ST Il § 3R
o5 3 ¥ fquifora fpar Sran &, &
Y FIT R

CHSL 2019 17-03-2020
(Afternoon shift)

(a)3

(b) 1

(©)2

(d)0

Q34. Which of the following

numbers is divisible by 9?
frafafed & 9 oF It 9.1 9

T faursg 82
CHSL 2019
(Evening Shift)
(a) 897342

(b) 594327

(c) 346217

(d) 734895

17-03-2020

Q35. Which of the following
numbers is divisible by 2, 5 and
10?

fFofifed & ¥ oF i ¥em 2, 5
3R 10 9 faHrsu 82
CHSL 2019
(Morning Shift)

(a) 7,20,345

(b) 1,25,372

(c) 19,400

(d) 149

18-03-2020

Q36. If a positive integer n is
divided by 7, the remainder is 2.
Which of the numbers in the
options yields a remainder of 0
when it is divided by 7?

¢ T YIS QUi n B 79
fawTfora foban i 8, o 2 2
gl fowed O 4 o o vem 7 9
faufod eR IR AW 0 AT 7 2
CHSL 2019 18-03-2020
(Afternoon shift)

(a)n+3

(b)n+1

(c)n+2

(dn+5

Q37. The valueof 1 +3+5+7+

1+3+5+7+ ... (2n -
) BIAAS:

CHSL 2019
(Evening Shift)
(a)(2n-1) x(2n-1)
(b) £

(c) nxn

nn+1
(d) J_E_l

18-03-2020

Q:38. Which of the following
options is divisible by 3?
fFofifead & 9 &9 a1 fdee 3
3 faursa 39
CHSL 2019
(Evening Shift)
(a) 2362735

(b) 6342589

(c) 3745932

(d) 4539763

18-03-2020

Q:39. Which of the following
numbers is divisible by both 7
and 11?

fofiiad & 9 @9 @ ¥e1 7
3R 11 1 3 faursa g2

CHSL 2019 19-03-2020
(Morning Shift)

(a) 16,324

(b) 12,335

(c) 16,257

(d) 16,425

Q.40. Which number is divisible
by both 9 and 11?

HF @ FB 9 SR 11 T b
favTea g2
CHSL 2019
(Evening Shift)
(a) 10,089

(b) 10,098

(c) 10,108

(d) 10,087

19-03-2020

SSC CGL 2019 TIER 1T

Q41. Two positive numbers differ
by 1280. When the greater
number is divided by the smaller
number, the quotient is 7 and the
remainder is 50.The greater

number is:
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T PRIAD TBATY 1280 I FH
Bidl &1 o9 TSt AT BT Bt
T ¥ fauiford fear srar g, ar
AT 7 BidT § 3R AT 50 BT
gl 3fis = &1 A I
DI |
CGL 2019 Tier-11 (15-11-2020)
(2) 1458
(b) 1485
() 1585
(d) 1558

Q42. When positive numbers X, y
and z are divided by 31, the
reminders are 17, 24 and 27
respectively. When (4x - 2y + 3z7)
is divided by 31, the reminder
will be:

e IHRIAS TBT %, y 3R 2
&1 31 I e frar sar 8,
AYHA HARE: 17, 24 3R 27 B
gl S (4x - 2y 37) B 31 9
favTfora foasam S g, @ Ivwd
ERII

CGL 2019 Tier-IT (15-11-2020)
(@9

(b) 8

(c) 16

(d) 19

Q43: If the 5-digit number 535ab
is divisible by 3, 7 and 11, then
what is the wvalue of (
a’-b*+ab)?

g 5-3fdbi HBAT 535ab 3, 7
AR 11 ¥ faursw g @ (
a?—b2+ab) BTHAHTG?
CGL 2019 Tier-IT (15-11-2020)
(a) 95

(b) 83

(c) 89

(d) 77

Q44. If the five digit number
235xy is divisible by 3, 7 and 11
then what is the value of (3x-4y)?
gfe Ui-TReT aTell TR&AT 235xy
3,7 3R 11 9 faursg g @ 9
T (3x-4y) ?

CGL 2019 Tier-1I (16-11-2020)

(a) 8
(b) 9
()5
(d) 10

Q45. Let ab, a#b, is a 2-digit
prime number such that ba is also
a prime number. The sum of all
such number is:

ab,( a#b) Th 2-3BIT AU
AT § O % ba i T SruTd
T g1 U ot dwmmeft @
AR

CGL 2019 Tier-II (16-11-2020)
(a)374

(b) 418

(c) 407

(d) 396

Q46. Let x be the least number
which subtracted from 10424
gives a perfect square number.
What is the least number by
which x should be multiplied to
get a perfect square?

T & & x Ia9 1 T S Sl
10424 I °CTIT TR 5, T quf aFf
AT ST g1 TP Ul U
B & forw fbw g &l x ¥
T[0T fodT ST 9TR Y

CGL 2019 Tier-1II (16-11-2020)

(a3

b6

(©5

(d)2

Q47. When positive number a, b
and c¢ are divided by 13, the
remainder are 9, 7 and 10,
respectively. What will be the
remainder when (a + 2b + 5c) is
divided by 13?

e YHRIHD BT A, B 3R C
&1 13 9 fquiiia frar smar 8,
AV A9, 7 AR 10T &1 919
(a + 2b + 5¢) I 13 ¥ faurfoa
foaT ST § ot A9t a1 g

CGL 2019 Tier-II (16-11-2020)

(a) 10

)5

(c)9
(d) 8

Q48. Find the sum of

6+8+10+12+14.. ... +40.
6+8+10+12+14. ... +40 I
gIT A DY |

CGL 2019 Tier-II (18-11-2020 )
(a) 400

(b) 424

(c) 1600

(d) 414

Q49. Find the number of prime
factors in the product (30)5 x
(24).

(30)° x (24)° JdC H U
TUFEUS 1 HAT J1d PifoTT
CGL 2019 Tier-II (18-11-2020)
(a) 45

(b) 35

(c) 10

(d) 30

SSC CPO 2019

Q50. If 14331433 x 1422 x 1425
is divided by 12, then what is the
remainder?

TG 14331433 x 1422 x 1425 Bl
12 ¥ faurfera fopar wrar 8, @
IV T BN |

CPO 2019
23-11-2020(Morning Shift)

(a)3

(b)) 9

(c)8

(d)6

Q51. If a nine-digit number
785x3678y is divisible by 72,
then the value of (x -y ) is:

I | B B e
785x3678y, 72 T faursa 8, a (x
- y) BTN 1A & |

CPO 2019
23-11-2020(Morning Shift)

(@0

(b) -2

(c)-1
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(d)2

Q52. The remainder when 75 x 73
x 78 x 76 is divided by 34 is:

QY 75x73 x78x76 Dl 34 &
farfora fopan T &

CPO 2019 23-11-2020(Evening
Shift)

(a) 18

(b) 12

(c) 22

(d) 15

Q53. If six-digit number 5x2y6z
is divisible by 7, 11 and 13, then
the value of (x - y + 3z) is:

i B8 3fhl BT TJAT 5x2y67 7,
113R 13RI R, A (x-y
+3z) pT HIF JTd CaRy |

CPO 2019
24-11-2020(Morning Shift)

(a) 4

(b) 0

(c)7

(d)9

Q54. The remainder when 72 x

73 x 78 x 76 is divided by 35 is :
72x73%x78x76 DI 35 ¥§

faviora fosan mar g o AW F19

|

CPO 2019 24-11-2020(Morning

Shift)

(a) 8

(b) 15

(c) 22

(d) 12

Q55. When a number is

successively divided by 3, 4 and

7, the remainder obtained are 2, 3

and 5 respectively. What will be

the remainder when 84 divides

the same number?

q I AT HiHD U I 3, 4

3R 7 § fquifora gt 8, druma

AY HARL: 2,3 AR S A g1 9d

I =T B 84 ¥ faHTiord Ha

g A Av g 2

CPO 2019 24-11-2020(Evening
Shift)
(a) 71
(b) 53
(c) 30
(d) 48

Q56. What is the least number of
soldiers that can be drawn up in
troops of 10, 12, 15, 18 and 20
soldiers, and also in form of a
solid square?

JPT B a8 BH I HH TS
1 g R 10, 12, 15, 18 3R
20 DI B gHISTAT T8
THl §] 3R T | Hft g o
g |

CPO 2019 24-11-2020(Evening
Shift)

(a) 180

(b) 625

(¢) 900

(d) 400

Q57. How many numbers
between 400 and 700 are divisible
by 5, 6 and 7?

400 3R 700 & &9 foreit Te
5,6 3R 79 faursa §

CPO 2019 24-11-2020(Evening
Shift)

(a)2

b5

(c) 10

(d) 20

Qs58. The remainder when
14331433 x 1422 x 1425 is
divided by 10 is :

14331433 x 1422 x 1425 1 10
¥ fauiforg foear mar g @ QA
A |
CPO 2019 25-11-2020(Morning
Shift)

(@) 0
()9
()3
(d)8

Q59. If a nine digit number
785x3678y is divisible by 72,
then the value of (x +y) is:

e Th A sidl B TS
785x3678y 72 ¥ faursa §, af (x
y) 1AM 18 I HY|

CPO 2019 25-11-2020(Morning
Shift)

(a) 10

(b) 20

(©)5

(d) 12

Q60. How many numbers
between 300 and 700 are divisible
by 5, 6 and 8?

300 3R 700 & o9 fpa- G
5,6 3R s A fAUTT 7 |

CPO 2019 25-11-2020(Evening
Shift)

(a) 20

(b) 2

()5

(d)3

Q61. When a
successively divided by 3, 4 and 7

number is

, the remainder obtained is 2,3
and 5, respectively. What will be
the remainder when 42 divides
the same number?

d PIs GBI HiHD =Y I 3, 4
3R 7 ¥ fauiird it 8, Y
Y HHT: 2,3 3R 5 B g1 O
42 T& gl BT B! faHTiod e
Sd A g

CPO 2019 25-11-2020(Evening
Shift)

(a) 31

(b) 41

(c) 30

(d) 29
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